o N

JINHUI
TEEBEER DA

(R M A s 2 AR A)
(B RHE - 137)

R-ZZZNEFANAZ+-BETZRRBFASERAZAREERK

AERLRBY K
HEH (k)

AN G (HaE2)

bk £ (Bf7E3)

HEBREMBRAT ([FRAF]) ZBH - ARAL (B ak4) 422 v BRI 4 0 & £ 5

Ho kS

BAN/BEZRE  REAN S BEFEHBEALNFR ZFRWUEANA Z+—H EF =0 REEES
$i 7E 885 ATl B S v B I E AR e MBS AT 2 AR AE R g (TREg)) (RHARTEE) - Efﬁ%%zl—‘/\/%fr
A BR K B 45 T R P SR R R SR R o R AR AR R I AR A B 2 RAERERWIN A 1T

REBR B (MaEs) | RE (BfaEs)

1. é%ﬁﬁ_iigﬁﬂ‘ H =4 — B k4B 2 BB ok S i S
BAT 2

2. HEEE AT A -

3. METEEENR AR o K5 FE G I I LS BT VS AT A 4E B 2 AL M > I b b o
E H 4 o

4. RTPEHRE A R EKG -

5. T EF R DU EBG

6. SHATAPLR R I TR T 3 9 2 B I AR R 5 5 T PRk 58 B [ 2 B0 T
{H -

16 AT AR AAR B -

~

Hi : —FF M4 H H #E (Mite)

Wi

1. A E BACR AR L T 4 % RCZ B BOR o AR A E R R RO AR e AT AR AR N O B B S W AR

TETA U BT AEETZ RO A -
2. WL ERIHE 24 o
i DL IE M S Mk o

4. il 458 2 YR O i LA S 2 N Ty AR s RN 2 TR 2% ]I 4 K E R B T RR s Sl 2
RIRZACK A R o B R AT BAT— u&z L&A LRI bz

°@
e
s
&
=
EE
FH
H.
i
X
K

RREZEERBZBEELE  YAHBEBABET

]
AL A B o

5. AE CETNHERZERLREMARBR  FEZY 7 =
FEZAIRE I MAE L[/ o i BT IR R W45 > A =
ﬁﬁ@%ﬁ%kﬁﬁ %ﬁu%ﬁmﬁiﬁﬁ%%ZEﬁ&%%‘

ﬁ/& Gl Eﬂ%‘* i%&dﬂ/\ GiE=N=+ /\iEf&’f&)\?ﬂ%%

Z F oo ik
7. T Jag AT A e 2 B 40 B RS o AR A — u%@“ﬁ%ﬁkﬁﬂﬁ%ﬁﬁﬁﬁﬁﬁﬁﬁ I%ﬁ%%“ﬁ?
TN A5 7 E — A REAR ST o MEAN R — 4 T A H 4 N
N B 2 T B A R AT B A 455 e

8. AN SR T AT AR A L] 50 B S o LA A
AR ZE R SCHAT T A 15 BT hﬁm%¢ﬁ
26k > 7 By AR e

ﬁﬁ ﬁ

L ﬁ?ﬁﬁ

HEMREE
BTz %



